EREEZANTIE-ER

(R5. WAETOEM EST () . BT (3538) . BT (E=1)) . EST (139 ] i m?
A = R L8 By e *ARA LR L
AR gt 34,500 0 45, 027 0|mAxT
eI xFEL 56, 900 0 0 0|ZAmH
rERES gt 0 0 0 B3

Nt st 136, 427

o L 16, 600 0 0 O|lgrzT

TR L 30, 000 0 0 0|ZART
s L 158, 900 0 0 O|lgrzT
SREEAIK AL 0 0 0 0|EAxT
hERI mREL 224, 000 0 0 |5
SEKiR AL 0 0 1,200 18,900

) EREL 449, 600

A5 (NEH+IER) | ST - ST 586, 027

(RS. 105 DB DWAEE]

SR 400 0 0 0|t

TERES 0 0 0 0|t

FPREBHIX 8,700 0 0 0 |mstst

BB 0 0 0 0 |mtst
At 9,100




